Electron loss (based on ¢c12-19-002)

e Same analysis as before except with events
from 5.0 < zBeam < 7.2 cut out

* As before: left arm angle 6.5 deg, central
momentum 3.0 GeV/c (+/- 4.5%), and theta to
6.5 (+/- 1.5) deg



Electron loss, zBeam < 5.0 cm

(before correction)
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Electron loss, zBeam < 5.0 cm
(before correction)

e' Momentum loss (pBeam-Ip MeV)
—y o > o @ o o~ o o

[=}
o

o

Scattered electron momentum loss vs X', zZBeam <5 Scattered electron momentum loss vs Target z,ZBeam <5
h3 5 h5
- Entries 222956 - Entries 222955
- Mean x 0.105 45— Mean x -3614
- e Meany 2072 c Meany 2072
- % | Std Devx 0.01812 S 4 o Std Dev x 5.058
- Std Devy 0.7504 ) C Std Devy 0.7504
- ) = r
- a 350 20
- £ C
- R
- 2 E 15
- 20 0 25—
= 0 E
- 15 £ o
- 1S = 10
- o 15 —
= 10 § ~c
- 2 C L
E_ 5 ° 1:_ 3 5
- 05—
- L | | | | | [ | 0 —
0 006 008 0. 012 0.14 018 = TR R R [ [ R Cle e
X = pxBeam/PyBeam R 10 5 5 10 5

0
Target z (cm)



Electron loss, zBeam > 7.2 cm
(before correction)

| ' .
Scattered electron momentum loss vs X', zBeam > 7.2 Scatered elecron z, Beam > 72
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e’ Momentum loss (pBeam-Ip MeV)

Electron loss, zBeam > 7.2 cm
(before correction)

Scattered electron momentum loss vs X', zBeam > 7.2 Scattered electron momentum loss vs Target z, zBeam > 7.2
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Energy loss electrons fitted

Scattered electron momentum loss vs x'

5 %2 / ndf 0.4309 /10
— po 1.598 + 0.1766
45— p1 10.41+2.781
= p2 —25.7 £ 23.57
= 4= p3 ~720.8 = 196.1
2 = p4 —3449 + 1497
o 35—
o = pP5 3.944e+04 + 9166
< - X2 / ndf 0.06533/ 14
S = PO 0.3843 + 0.03241
2 25— p1 0.1372 + 0.3264
g 21—
5 — 20
£ 1.5 —
o —
= =
@ 1= 10
05—
— A 1 1
804 0.16 0

Fit function upper: 1.598 + 10.41 * X’ — 25.7 * x'2 — 720.8 * x'3 - 3449 * x'4 + 3.944e+04 * xX'5
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Energy loss electron after correction

Scattered electron momentum loss vs x, zBeam < 5' Scattered electron momentum loss vs x, ZBeam < 5'
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Energy loss electron after correction

Scattered electron momentum loss vs x, zBeam < 5

Scattered electron momentum loss vs x, zBeam < 5'
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Summary

e Sigma for the zBeam < 5 cm was reduced by
about half

e However this the same amount as before
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